
EXPLODED VIEWS

05-12 EXPLODED CPMDG-DE-IV         

Printing date:      05/04/2017

Validity
From Serial Number:  27649  / 2011

To Serial Number:  All untill printing date

Legend: C = Suggested spare parts



EXPLODED VIEWS

This page intentionally left blank



05-12 EXPLODED CPMDG-DE-IV         

Pos. Data sheet
A              02-0510  02-0500  04-0510  05-0510  05-0520  
B              05-0530  05-0540  
C              06-0512  06-0524  
D              03-0510  



DATA SHEET 02-0510 CPM..           4

05-12 EXPLODED CPMDG-DE-IV         pos. A - cod. 952-02-0510  



DATA SHEET 02-0510 CPM..           5

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00  40300112     MOTOR 1 PH KW0,12 4P B5 230V       

02                PZ 1,00  40300110     RED.GEAR VF/VF-30/63 P-1520 PAM 63 

03                PZ 1,00 C 40100028     ROUND LIMIT SWITCH IP67 FB4115     

04                PZ 1,00  10500015     INOX RING SHAFT D.25 UNI7435       

05                PZ 1,00  SMC0036-00   CENTERING FLANGE GEARMOTOR CPM     

06                PZ 1,00  SMC0034-00   GROUP TUBE-SOCKET GEARMOTOR CPM... 

07                PZ 1,00  20400590     BUCHING IGLIDUR XSM 30-34 L=30     

08                PZ 1,00  10500121     O-RING DI.47,22X3,53 R.4187 FP70   

09                PZ 1,00  10500117     O-RING D.29,74X3,53 R.137 E540-80  

10                PZ 1,00  SMC0038-00   SHAFT REDUCTION GEAR COOKER CPM    

11                PZ 1,00  10300074     PARALLEL KEY 8X7X36 A2 UNI6604/A   

12                PZ 1,00  SMC0040-00   PLUG FOR SHAFT REDUCTION GEAR CPM..



DATA SHEET 02-0500 CPM..           6

05-12 EXPLODED CPMDG-DE-IV         pos. A - cod. 952-02-0500  



DATA SHEET 02-0500 CPM..           7

Pos. Model UM Qty C Model Description Price Eur

01 12             PZ 1,00  SMC0145-00   BASKETT CPM12                      

01 18             PZ 1,00  SMC0105-00   BASKETT CPM18                      

01 24             PZ 1,00  SMC0007-00   BASKETT CPM24                      

01 10+10          PZ 1,00  SMC0185-00   BASKETT CPM10                      

02                PZ 1,00  SMC0008-00   PIATTO X BATTUTA TEFLON CESTELLO CP

03                PZ 1,00  SMC0042-00   TEFLON LEDGE BASKET DRIVE CPM      

04                PZ 1,00  10200015     PLANE WASHER A2 M6 UNI6592 DIN125  

05                PZ 1,00  10200141     NUT INOX A2 M5 UNI5721             

06                PZ 1,00  10100596     SELF-THREADING SCREW TCB A2 4,8X13 

07                PZ 1,00  10200220     PLANE WASHER A2 M4 UNI6592 DIN125  

08                PZ 1,00  10200352     NUT INOX A2 M4 UNI7474             

09                PZ 1,00  10100464     SCREW A2 M4X20 UNI6109             



DATA SHEET 04-0510 CPM.            8

05-12 EXPLODED CPMDG-DE-IV         pos. A - cod. 952-04-0510  



DATA SHEET 04-0510 CPM.            9

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00  30200008     TAP TO LOAD WATER X 70-KB...       

02 +03            PZ 1,00  30200065     WATER INLET SHOWER CPM....         

03                PZ 1,00  30200061     R-SHOWER HEAD ECO/R F3/8" LEVER PL 

04                PZ 1,00  SMC0050-00   LEVEL CONTROL ELECTRODE COOKER CPM 

05                PZ 1,00  SMC0052-00   LEVEL INSULATION COOKER CPM        

06                PZ 1,00  SMC0053-00   WACHER FIXING ELECT. LEVEL CPM     

07                PZ 1,00  10500101     O-RING DI.10,78X2,62 R.2-111 SILIC.

08                PZ 1,00  10500103     O-RING DI.18,72X2,62 R. 3075 SILIC.

09                PZ 1,00  SMB0138-00   PLANE WASHER A2 M6 6,25X24 UNI659  

10                PZ 1,00  40600099     TERMOSETTING SHEATH D38,1 L=1,2M   



DATA SHEET 05-0510 CPM.            10

05-12 EXPLODED CPMDG-DE-IV         pos. A - cod. 952-05-0510  



DATA SHEET 05-0510 CPM.            11

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00 C 40700086     RELAY CARD MINI (DIX.)             

02                PZ 1,00  40200131     TRANSFORMER 24VA LCD CARD          

03                PZ 1,00  40300039     CONDENSER 20MF WITH TANG           

04                PZ 1,00 C 30100060     SOLENOID DOUBLE VALVE WATER 230V   

05                PZ 1,00 C 30100070     SOLENOID VALVE WATER 1 WAY 230/50HZ

06                PZ 1,00  40300028     VENTILATOR CPM... 230V AC          

07                PZ 1,00  40300029     GRID FOR VENTILATOR CPM ...        

08 CPMDG          PZ 1,00 C 30100026     STARTING DEVICE PACTROL X194/245   



DATA SHEET 05-0520 CPM.            12

05-12 EXPLODED CPMDG-DE-IV         pos. A - cod. 952-05-0520  



DATA SHEET 05-0520 CPM.            13

Pos. Model UM Qty C Model Description Price Eur

01 CPMDG          PZ 1,00  30300053     PRESSURE GAS SWITCH 10/50 MBAR     

02 CPMDG          PZ 1,00 C 40100015     COIL OF SOLENOID 50HZ EV1 822/826  

02 CPMDG (60 HZ)  PZ 1,00  40100170     COIL OF SOLENOID 60HZ EV1 822/826  

03 CPMDG          PZ 1,00  30100012     SOLENOID VALVE SIT.826-NOVA        

04 CPMDG          PZ 1,00 C 40100013     CON.SCREW+GASKET+RECT.826          

05 CPMDG          PZ 1,00 C 40100017     COIL OF SOLENOID 50HZ EV2 822/826  

05 CPMDG (60 HZ)  PZ 1,00  40100172     COIL OF SOLENOID 60HZ EV2 822/826  

06 CPMDG          PZ 1,00  40100016     DOUBLE CONNECTOR + SCREWS 826      

07 CPMDE          PZ 1,00 C 40100024     CONTACTOR 30A 4P AC1-230V/50HZ     

08 CPMIV          PZ 1,00  30100066     STEAM SOLENOID VALVE 1"N.C.        

09 CPMIV          PZ 1,00  40100018     CONNECTOR FOR STEAM SOLENOID VALVE 

10 CPMIV          PZ 1,00 C 30200106     BALL VALVE FOR STEAM 1" F/F        

11 CPMIV          PZ 1,00 C 20200044     KNOB D.63 FOR CPM.                 

12 CPMIV          PZ 1,00 C 20200046     GREY COVERING FOR KNOB D.65        



DATA SHEET 05-0530 CPM.            14

05-12 EXPLODED CPMDG-DE-IV         pos. B - cod. 952-05-0530  



DATA SHEET 05-0530 CPM.            15

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00  40700340     STENCIL 2 DISPL.CPM FIREX          

01                PZ 1,00  40700342     STENCIL 2 DISPL.CPM                

02                PZ 1,00 C 40200150     ORANGE SIGNAL 400V D.12            

03 CPMDG          PZ 1,00 C 40100090     RED LIGHTING RESET BOTTON          

04                PZ 1,00  40100021     SELECTOR BLACK KNOB 2 POSITIONS    

05                PZ 1,00  40100002     SELECTOR BLACK KNOB 3 POSITIONS    

06                PZ 1,00  40100100     EMERGENCY BOTTON D.40              

07                PZ 1,00 C 40200064     GLASS LAMP V.240 X FLAME WARN.LIGHT

08                PZ 1,00  40200065     ORANGE FLAME WARNING LIGHT         

09                PZ 1,00 C 40700084     CARD KEYPAD MINI WITH 2 DISPLAY    

10 F1             PZ 1,00 C 40200054     DELAYED FUSE 5X20 1,25A T-250V     

11 F2 (CPMDG)     PZ 1,00 C 40200054     DELAYED FUSE 5X20 1,25A T-250V     

12 F3             PZ 1,00 C 40200050     RAPID FUSE 5X20 200MA F-250V       

13 F4             PZ 1,00 C 40200084     DELAYED FUSE 5X20 3,15A T-250V     



DATA SHEET 05-0540 CPM.            16

05-12 EXPLODED CPMDG-DE-IV         pos. B - cod. 952-05-0540  



DATA SHEET 05-0540 CPM.            17

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00  30300006     SAFETY VALVE 0,50 BAR 1-1/4"       

02                PZ 1,00  30300060     DEPRESSION VALVE 3/4"              

03                PZ 1,00  30300022     PRESSURE GAUGE 0/1 BAR D.60 1/4"   

04                PZ 1,00  30300070     TUBE-SOCKET/PRESS.GAUGE VERT. "1/4 



DATA SHEET 06-0512 CPMDG           18

05-12 EXPLODED CPMDG-DE-IV         pos. C - cod. 952-06-0512  



DATA SHEET 06-0512 CPMDG           19

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00 C 30100034     CANDLE WR 768G213                  

02                PZ 1,00 C 30100046     CANDLE OF SURVEY FLAME D.3 L=115   

03                PZ 1,00  30400010     BURNER D.40 L=550MM 3,5KW          

04                PZ 1,00  SC1404-00    AIR REGULATOR BURNER CBTG060/90DBRG

05                PZ 1,00 C 40800044     PROBE TCK D.6X100 PRODUCT PROBE PR 

06                PZ 1,00  30100088     BICONE + PILOT CONNECTION D.6MM    



DATA SHEET 06-0524 CPMDE           20

05-12 EXPLODED CPMDG-DE-IV         pos. C - cod. 952-06-0524  



DATA SHEET 06-0524 CPMDE           21

Pos. Model UM Qty C Model Description Price Eur

01 CPMDE          PZ 1,00 C 40400087     HEATING ELEM. 2800W-230V CPMDE ALL.

02 CPMDE          PZ 1,00 C 40800025     PROBE TCK INS.OCCH.5 L=2,5MT CPMDE 

03                PZ 1,00 C 40800044     PROBE TCK D.6X100 PRODUCT PROBE PR 

04                PZ 1,00  30100088     BICONE + PILOT CONNECTION D.6MM    



DATA SHEET 03-0510 CPM.            22

05-12 EXPLODED CPMDG-DE-IV         pos. D - cod. 952-03-0510  



DATA SHEET 03-0510 CPM.            23

Pos. Model UM Qty C Model Description Price Eur

01                PZ 1,00  20300130     HINGE COVER CPM..                  

02                PZ 1,00  20300128     HINGE SUPPORT DX/SX 20300130       

03                PZ 1,00  20300127     HINGE PIVOT 20300130               

04                PZ 1,00 C 20500058     SPRING LEFT HINGE D.5 LIGHT        

05                PZ 1,00 C 20500056     SPRING RIGHT HINGE D.5 LIGHT       

06                PZ 1,00  10300044     STRAIGHT LUBRICATOR M6X1 INOX      


